In Oz We Tryst	T025 sample solution


Solution:





Alice’s directions read:


Head in a direction halfway between the compass directions of Betty’s house and of Carol’s house. — for herself


Head in a direction halfway between the compass directions of Alice’s house and of Carol’s house. — for Betty


Head in a direction halfway between the compass directions of Betty’s house and of Alice’s house. — for Carol


Alice is recommending that each walk along an angle bisector of one of the angles in the triangle of houses. Since the angle bisectors are concurrent they will all arrive at the same point — if they each walk at the appropriate speed.


Alice’s home is 0.36 mi. from the intersection point


Betty’s home is 0.28 mi. from the intersection point


Carol’s home is 1.0 mi from the intersection point


Therefore according to Alice’s set of directions, Alice should walk at the rate of 0.72 mi/hr, Betty at the rate of 0.56 mi/hr and Carol at the rate of 2 mi/hr.





Betty’s directions read:


Head in a direction perpendicular to the line joining Alice’s house and Carol’s house — for herself


Head in a direction perpendicular to the line joining Betty’s house and Carol’s house — for Alice


Head in a direction perpendicular to the line joining Alice’s house and Betty’s house — for Carol


Betty is recommending that each walk along a perpendicular bisector of one side of the triangle of houses. Since the perpendicular bisectors are concurrent they will all arrive at the same point — if they each walk at the appropriate speed.


Alice’s home is 0.5 mi. from the intersection point


Betty’s home is at the intersection point


Carol’s home is 1.2 mi. from the intersection point


Therefore according to Betty’s set of directions, Alice should walk at the rate of 1.0 mi/hr, Betty at the rate of 0 mi/hr and Carol at the rate of 2.4 mi/hr.





Carol’s directions read:


Head in a direction toward the middle of the line joining Alice’s house and Betty’s house — for herself


Head in a direction toward the middle of the line joining Betty’s house and Carol’s house — for Alice


Head in a direction toward the middle of the line joining Alice’s house and Carol’s house — for Betty


Carol is recommending that each walk along a median of the triangle of houses. Since the medians are concurrent they will all arrive at the same point — if they each walk at the appropriate speed.


Alice’s home is 0.52 mi. from the intersection point


Betty’s home is 0.43 mi. from the intersection point


Carol’s home is 0.82 mi. from the intersection point


Therefore according to Carol’s set of directions, Alice should walk at the rate of 1.0 mi/hr, Betty at the rate of 0.86 mi/hr and Carol at the rate of 1.6 mi/hr.
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